APTT =

value=0.045 ( ) APTT
PT P value=0.043
<0.05 ( ) PT
4.10
4.10

GOT 118.0+ 93.1 108.3+102.5 148.1+1/5.9 101.6+ 65.5
GPT 189.5+135.3 191.8+ 55.2  217.4+205.5 184.2+131.0
AlK-P 83.1+ 26.4 87.5+ 314 96.4+ 41.1 83.4%+ 25.7

Bil-T 09+ 04 ¥0f 0.5 1.0+ 0.6 09+ 0.3
Bil-D 0.2+ 0.1 0.2+ 0.2 0.3+ 0.3 0.2+ 0.1
y -GT 52.1+ 46.4 56.2+ 61.6 71.7+105.4 50.5* 34.9
GLO 3.8% [ Q=7 f£i0H Thald 6 3.8+ 0.7 3.7+ 05
ALB 41+ 03 4.2+ 0.3 41+ 04 42+ 0.2
PT 12.0+% &5\ (11D 2rE 3/ 127+ 16 11.8+ 1.6

APTT 353+ 7.1 40.0+ 05 37.9+ 6.8 38.7+ 10.5




()

pair-t-test

GPT y -GT PT APTT  p-value<0.05
GPT y -GT
APTT PT
GOT
GLO ALB p-value<0.05
4.11
4.11
GOT 109.9+ 1185 76.5+ 66.8 112.4+ 81.5 98.0+ 70.6
GPT 192.5+162.5 114.7+ 81.5 190.0+137.9 165.6+169.5
AlK-P 849+ 34.4 84.6+ 240 86.7x 25.1 83.0+ 27.9
Bil-T 09+ 04 0.8+ 0.3 1.0+ 04 08t 04
Bil-D 0.24+ 0.21 0.1+ 0.1 0.2+ 0.2 0.1+ 0.1
y -GT 55.3+ 58.1  47.2+ 50.8 55.5+ 58.0 48.5+ 48.8
GLO 3.7t 0.4 3.7t 0.6 38t 06 3.7t 0.7
ALB 42+ 0.3 4.2+ 0.2 42+ 0.2 4.0+ 03
PT 115+ 1.1 122+ 14 123+ 19 124+ 14
APTT 37.6x 54 36.7+ 6.4 39.3+ 12.3 36.1+ 5.2
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)

GOT GPT y -GT PT

p-value<0.05

GOT GPT vy
GT PT
Bil-T APTT
4.12
4.12
GOT  113.0t104.6 855% 65.7 102.3+ 66.4 103.3 87.7
GPT  195.1+158.2 143.2+147  169.7+ 81.1 139.6+ 84.8
AIK-P 87.7+ 30.8  85.2+ 27.3 77.1+ 20.3  76.1+ 17.1
Bil-T 0.9+ 0.4 0.8+ 03 1.0+ 06 0.8+ 0.3
Bil-D 0.2+ 0.2 0.1+ 0.1  03% 0.2 0.2+ 0.1
y -GT  50.7+ 46.3  46.2+ 42.8 79.6+ 96.0 56.5+ 76.4
GLO 3.7+ 05 3.6t 06 3.8t 0.6 3.9+ 0.9
ALB 42+ 0.3 41+ 03 41+ 02 41+ 0.3
PT 120+ 17 123+ 1.4 116+ 10 122+ 15
APTT 39.0+ 9.7  36.6+ 59 36.1+ 10.1 347+ 4.7




